| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
l= Entries 801 l Entries 801
E Mean 0.3521 Mean 0.633
r Std Dev 0.6803 Std Dev 1.84
10_1 E missing_inner_layers 10_1 . P = missing_outer Tayers
E Entries 2212 : : : [Entries 2212
r Mean 0.1998 Mean 0.623
_ Std Dev 0.5189 _ Std Dev 1.734
1072 NS (- * 5 IR ;
F njissing_inner_layers F . missing_outer_layers
L .| Edtries 2219 L H . | Entries 2219
3| . Impan 0.1992 ) I et I D 1. | Mean 0.6233
10 St Dev 0.5182 10 : : + |Std Dev 1.741
E #l E : : : : |
I missing_inner_layers o . . . missing_outer_layers
-4 Entries 2212 -4 Entries 2212
10 E Mean 0.198 10 E . | Mean 0.623
r Std Dev 0.5126 r N Std Dev 1.734
-5 b -5 L : ;
10°F 10 e AR
010—61_._ 010—6_....!....!...!....!....
g I T B T : : : :
v [ o [
L ]_v_-
0.5 I
[ 0.8 HEEEEEEEE
0 0. 5 1 1. 5 2 2. 5 3 3. 5 4 4. 5 5 0

SSW_CKIPUSU __RECO

—— oba
e DQM_V0001_R000000001__Global_CMSSW_mkFitPUS0LowPtQuad__RECO
mean hif| === DOM_V0001~R000000001 _Global _CMSSW_LowptQnoclean_ RECO"
= DOM_V0001_R000000001_Global__CMSSW _looseSC__RECO _
— 40_ Entries 801
%) - 2’| Mean 17.51
> r Istd DEV 4.168
1] e e T e S E LR T L EE PR ETLEEETY N sl Rt SRl REhh (b SRR LD ERETERE|
2 r hits
c o 2 |- Entries 2212
v 30k 10 3 Mean 17.61
L F Std Dev 3.839
25~ 1 SEntries 2219
o B 1| Mean 17.62
r d Dev 3.836
20 N 10 Sirzrizgoiiis
r 3 F hits
r F : r Entries 2212
r N - Mean 17.61
15f + : l. Std Dev
10 E : E E
y * : : : : I 1
NI AP APATEA AN |
3] : S %
T T E
[0 xr 3
2F
1:
0 5 10 15 20 25 30 35 40
track hits
[Nofreco track vs pT |
num_simul_pT num_reco_pT
Entries 143227 T T Entries 819
Mean 2.096 lo—l e leeaeaaaa LA Mean 14.12
N 17.47

Std Dev 5.929

Std Dev

num_reco_pT
2241

num_simul_pT
Entries 143227

Cv] I
Mean 2.096 107°E 13.42
Std Dev 5.929 E
: I r
num_simul_pT 3 B nujn_reco_pT,
tries 143227 10°F Entries 2248
Me 2.096 E Mean 13.48
Std Dlev 5.929 o Std Dev 18.15
| ‘ r 11 |
num_simul_pT —4 - num_reco_pT
Entries 143227 10 E Entries 2241
Mean 2.096 F Mean 13.49
td Dev 5.929 [ td Dev 18.18
= 5
""" 10°F
AT — -
; o1052F
| ‘ : = f
E x Foooooor
llluuullllll“l”” A F
TTTTTTTTTTTTTTH||||||| ; 0.8F - eeen v
: : : 0.6 ---==-1-5-
0.95 T + + '2 3 T
10 1 10 10 10 10




	Contents
	Page 1


